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QUESTION 1

A customer has two TS7740 V07 at Release 3 in a two-way grid across two sites. There is a new requirement for a
subset of the data created in Site A (Cluster 0) to be written in both sites but to be in Site B (Cluster 1) at the end of the
job. What method is best employed to achieve this with the least impact on the batch run, and at the lowest cost? 

A. Setup a policy for the data creating a copy consistency of RR in Site A 

B. Setup a policy for the data creating a copy consistency of RD in Site A 

C. Set up a policy for the data creating a copy consistency of DR in Site A 

D. Connect Site A to the TS7740 in Site B with two PICON channels and run the jobs using logical units on Site B 

Correct Answer: C 

 

QUESTION 2

A Business Partner has been asked to provide an education session on the latest tape technology available from IBM
and its competitors. Which resource is the best to obtain current information and presentation materials about the key
competition? 

A. Tech Line 

B. Compete Center 

C. Partner World web site 

D. Storage Support web site 

Correct Answer: B 

 

QUESTION 3

In a TS7700 R2.x system, how many logical paths are provided by the minimum FICON adapter configuration? 

A. 256 

B. 512 

C. 1024 

D. 2048 

Correct Answer: B 

 

 

QUESTION 4
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To install an IBM 3592-007 with attached drives housed in a TS3500 Tape Library, which of the following is required? 

A. TS3500 frame with mountings to install the 3592-007 and its switches 

B. Customer-supplied standard rack using switches in one of the TS3500 frames 

C. IBM 3953 frame with switches installed either in 3953 frame or one of the TS3500 frames 

D. IBM 3952 frame with switches installed either in 3952 frame or one of the TS3500 frames 

Correct Answer: D 

 

QUESTION 5

An existing TS7740 customer has chosen to upgrade with additional 200 MB/sec Enablement and 7 TB Tape Cache.
Which of the following is the best business objective on the above upgrade? 

A. The customer would like to improve OLTP application response time 

B. The customer would like to improve the RTO (Recovery Time Objective) 

C. The customer would like to improve the RPO (Recovery Point Objective) 

D. The customer would like to improve the tape backup jobs processing time 

Correct Answer: D 

 

QUESTION 6

On a TS3500 Tape Library, what is the minimum number of cartridge cells that can be configured in an L23 frame? 

B. 58 

C. 117 

D. 248 

Correct Answer: B 

 

QUESTION 7

What function does the TS7700 Sync Mode Copy enable or perform? 

A. It copies the synchronized volumes between the clusters 

B. It synchronizes the copies of the TS7700 databases between clusters 

C. After writing the entire volume the TS7700 uses Sync Mode Copy to synchronize the data between all clusters 

D. When the host application issues an explicit synchronize operation all previously written records are replicated to
another cluster 
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Correct Answer: D 

 

 

QUESTION 8

Which two of the following environments are supported for use with a TS7700? (Select two) 

A. AIX 

B. z/VSE 

C. z/TPF 

D. MVS/ESA E. z/Linux 

Correct Answer: BC 

 

QUESTION 9

What copying activity does "Pull Cache Copy Throttling" limit on the TS7740? 

A. the data copied from tape to cache 

B. the data copied from cache onto tape 

C. the data copied into the cache from another TS7740 cluster 

D. the data copied out from the cache into another TS7740 cluster 

Correct Answer: C 

 

 

QUESTION 10

What drive types are supported in the IBM TS3300 Tape Library? 

A. LTO drives only 

B. TS11x0 drives only 

C. Both LTO and DLT drives 

D. Both LTO and TS11x0 drives 

Correct Answer: B 

 

QUESTION 11
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A customer wants to double the capacity and throughput capability of the existing TS3510 Tape Library. The available
free space in the data center is limited so 324 frames must be included in the proposal. Which fact must the technical
specialist take into account in order to meet the customer requirements? 

A. 324 frames do not provide the option for adding tape drives 

B. 324 frames cannot be placed at either end of the tape library 

C. 324 frames provide 2.5 times more cartridge slots compared to D frames 

D. 324 frames offer reduced `amounts per hour\\' when using cartridges in tiers 0 and 1 

Correct Answer: A 

 

QUESTION 12

A newly installed TS7720 Virtualization Engine has recently been integrated into a three-way grid. The logical volumes
created in the other two systems are not properly being replicated to the new system. All local IBM and customer
support resources have been exhausted in trying to determine the cause with no resolution in sight. What should be the
next step to try to resolve the issue via IBM? 

A. Contact local PSR to escalate 

B. Contact the local SSR to escalate 

C. Contact the local software provider to escalate 

D. Contact the sales representative to escalate 

Correct Answer: D 

 

 

QUESTION 13

A customer is attaching a TS7740 with six TS1140 drives to an existing TS3500 which is used for open systems. The
new tape drives and switches will be installed in an existing D23 frame with two TS113O drives installed. What
significant change does the customer need to be aware of with this installation? 

A. The existing TS1130 drives will need to be upgraded to TS1140 

B. The TS3500 will need an additional enhanced frame control assembly (FC 1451) 

C. The TS1 130 drives will have to be removed and installed in another frame of the TS3500 

D. The power requirements change and the power cord of the existing library frame must be upgraded 

Correct Answer: D 

 

QUESTION 14
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What provides a point-in-time view of the customer\\'s tape data environment? 

A. GTE Trace 

B. QAM database copy 

C. EREP history file 

D. Tape Management Catalog 

Correct Answer: D 

 

 

QUESTION 15

A customer has TS1120 tape drives used with an inventory of 200 JA cartridges and 200 JB cartridges, all currently
written by the TS112O drives at the highest density format. The customer plans to install TS1140 drives and move the
data to new JO cartridges. How many new JC cartridges are required? Assume all cartridges are full to capacity, and
round up the answer to the nearest cartridge if required. 

A. 50 

B. 60 

C. 75 

D. 82 

Correct Answer: B 
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